Greek 1B

AaronP

Lesson 17

Third Declension

M/F Neuter
Nominative |- —€¢ —lo —otoe
Genitive —0C -V —L0TOC —otwy
Dative —L —oL(v) —oTL —aoL(v)
Accusative | —o, -v —og —lo —ote

The stem of third declension noun is attained from its genitive minus —o¢
ending. E.g. 8éAnuat< 6eAnue, BeAnuatoc. To this stem, the basic endings are
added.

The dative plural adds —o. to the stem. Stems in vt drop vt and lengthen the
preceding vowel: Aéwv (ovtoc) => A¢ovar. Stems in v drop v without
lengthening the preceding vowel: daipwy (ovog) => datpoot. (Smyth, Greek
Grammar, 8250)

Third declension nouns with —ue are always neuter. This means, the accusatives
are identical in form with the nominatives.

Accent is persistent. But nouns with monosyllabic stems take the ultima in the
genitive and dative, singular and plural. The genitive plural takes a circumflex

(§118).

mas mas fem fem net net
nom | alov avnp oopé XOPLS TVedue O
gen oldvoc avdpog 00PKOG XOPLTOG TVEVRNTOS | OWUKTOC
dat alovt avdpl oopKL YAPLTL TVEUUTL OWUATL
acc aldve avdpa O0LPKL xapiv/ TYedpe oG
YAPLTOL
nom | aildveg avdpec OOLPKEG YUPLTEC Trelpote | OWUeTo:
gen alWvev AvdpRV OUPKOV YapLTWY TVEUUOTOV | OOULTWY
dat al@oL dwdpdoL' oupEl XOPLOL TredlaoL OWUNOL
acc aLBVog avdpog OapKG XOPLTOGC Teddato | OWHaTe
v" For more declension nouns, see lesson 25.

! v between consonants becomes pe: (Smyth, Greek Grammar, §§835b, 262). E.g., matfp metpdec =>

TOTPAOL.




